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The vortex.
A vortexisnotan objectin physical termsitis a concept.Justas a wave isa concept.

You cannot have a vortex ora wave without an object or objects. Inscienceitis bestdescribed asan
objectthat travels with aforward rotational motion. Because itis a concept with anactual physical
objectas underlying basis | would recommend to state itis a scientificconcept. This segregates this
conceptfromreligious (or otherconcepts) of which some have zero physical backing. Itis thiswhy|
fall so often overthe scientificdefinition of concept. Avortex canalso be regarded as a
phenomenon. A surface to surface contact between objects.

Lightis a vortex. A pressure differential from atom to atom. Atoms themselves are avortex cone a
buildup of gazillions of vortices. Time is flow within these vortices. Even flow can be slowed down or
speeded up.So eventhe concepttime canalter.

Why a vortex?

*)In a collision chamber the waves, that occur after a collision, have sometimes acircular or counter
circularmotion. The only way why a wave becomesrotational is underthe influence of a circular
motion. In most cases these waves are mistaken for objects. Waves do not circle by themselves.

*)Elemental oscillations are contributed to flow. Low elemental oscillations give riseto stable flow
hence strong™ E.M. fields™.

*)All stars have a round shape.

*)All atoms have round/circularshape.
*)All galaxies show circular flow.

*)All births of galaxies start with flow.
*)A droplet of water has round shape.

*) It takes motion of smallerobjectsto propel alargerobject!. Simply look atany combustion engine
inthe world. Material is being burned causing motion of smaller objects (like steam) this causes the
car or steamtrainto move. Sowhat is propellingan objectin gravity.(accelerated motion?) The only
thingthat can do itare smaller objects which are already in motion..



FLUIDUM. The non-compressible object.

The vortexisa dynamicof a non-compressible object. Justas a liquid can form vortices the object
that fills (ourunderstanding of)space is also a non-compressible fluidum. Although the presence of
low pressure inside the vortex ( seenthrough the inside view) may suggestitcan be completely
compresseditcant. The vacuum remains required otherwise the vortexwould not have borders. Itis
circular motion (magnetic) that sets the borders. Increased circular motion of the vortex extends the
internal pressure groove but it compresses vortices elsewhere but nevertoa pointthat a vortex
collapses.

The fact that it is non-compressible explains light speed. Fill agarden hose with liquid and apply push
on it. How fast does water come out of the hose if pushis generated overlarge distance. Remember
that thisvortex does noteven have an outlet. Itare just the waves of fluid object moving forward.
(electric). Waterhas evenshearforces when being propelled inahose. Justaskthe question “"How
strongare the friction (shear) forcesinvacuum?™.

Wavesinside the vortex. The exactlocation of the wavesinside the vortexis determined from what
atom the vortex emanated from. | will explain this furtherin the layering of the atom as seen through
the cone model of the atom.

What can be attributed tovortexisthatitis not a standingwave itis justflow connecting atoms. So
light (form of E.M) is nota standing wave. The way EM flows (the waves that are exiting the
atom)determines whetherwe deal with visible light/ infrared/ x rays etc. Entering EM flow towards
the atom isdifficultto detectasit hasverylow frequencies. These very low frequency (electric)
fluidum object flows fast especially in combination with the extreme colds of space.

| have to explainfastvsslow. Fastelectrical (forward) flow has less ( rotational) magneticflow.
Smallerareato flow through.

Fast magneticflow has less electricforward flow.
Big areato flow through. Such as an atom in comparisonto light.

If an atom pushesiitis the pressure wave that travels through the flow. It says nothinginregards of
the actual flow speed. It does however alter flow speeds because of the waves that were generated
by the atom. Because a wave increases and the immediately decreases flow speed the resultantis
still normal speed. Thatis normal time.

The increase and decrease of flow speed also explains why the incoming flows into the atom have no
wave. This speed remains the same.

Sum of vortices. Because of the alternating speeds in the vortex Light can be considered as a sum of
waves alonga pressure groove.

LIGHT vs SOUND.
Light (an E,M wave) is surface to surface interaction within the fluidum object.

Sound issurface to surface interaction within the object air.



ELECTRIC VS MAGNETIC. (Faradays law)

Electricis forward flow of objects. Magneticis circular flow. Because of vortex E cannot be without
the M. Faradays laws explained. E starts flowingin a metallicthreadifitisunderthe influence of
rotating magneticflow.

IONIZATION.

There is flow towards atoms via physical connected atoms (bonds) orthrough E.M vortices and
there isflow away from the atoms to physical attached atoms (bonds)or through exiting E.M.
vortices(ionization). Inionization the flows exiting the atom receives an amplitude (whichisalsoa
push a swingora wave). The pressure this swing gives can be detected as EM. Quantum jumping of
the atom isthe interaction between forward flow towards atoms and amplitude given exiting flow.
You can visualize this best by givingapush on water. Anionized atom (vortexcone) can best be seen
as a pump that pushesonall exiting flowsin all directions. Because action =-reaction the element
/atom/vortex cone oscillates causing multiple waves.

EM is observable when atoms contract sending waves through the exiting vortices fromthe atom.
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Figure 1. Contraction of (part of the)atom. Figure 2. Expansion of (part of) the atom.

Arrowsin both figures show incoming and exiting flow of vortices. Because entering and exiting
vorticesareinall directionsthere isno motion on the atom exerted then an oscillation.

Electrical resistance.

Electrical resistance is motion of atoms (i.e. temperature) blocking normal vortex flow.

All atoms have charge.



CHARGE
*)Staticelectricity and Negative charge

If electricobjectaccumulates because flow is obstructed vialayers of different material orthe
alignmentof vortex conesisrandom (could be caused by temperature/pressure of gasses).
Obstruction of flow leads to a buildup of object ora restricted flow. | call this negative charge.

*)Positive Charge:

Ifelectricobjectflowisincreased we speak of positive charge. Alignment of vortex cones (matter)
causesthe earth to be positively “charged™. Infact charge is merely an accumulation of object
(negative charge) through obstructed flow orincreased flow through alignment in metals (positive
charge). Earth isalso a metallicobject created by silicon.Itis a crystalline structure because of
disposition from gas to solid. This crystalline structure has electric bonds orientated in such a way
that flowisincreased. Vortexcones closerto each other change the shape of the vorticesresultingin
pressure differences. Thisis gravity.

Lightning:

Electricobjects flow from the sunto the atmosphere thatis a very great insulator (a blocker of
normal flow) so electricobject gets trapped. The entrapment can be seenin the rise of temperature
of the atmosphere onasunny day. Temperature itself gives rise to further blocking of the flow.

Pushesonthe flow emanating from stars enter both clouds, airand earth surface (watersoil) Clouds
have electricbonds so the speed of flow isincreased thenit hits airwhichis not tightin with bonds
plusthe temperatureisalsoincreased blocking flow. Electricobject gets “trapped ™ inthe cloud. The
Voltage increases inthe cloud until itdischarges the electricobject towards a pointwhere flow
(bonding)is greatest (earth). Flowisthen dissipated on all exiting vortices from earth (slow circular
magneticwith zero push flows) back to enteringvorticesin atomslike in suns. The electricobject
fromthe atmosphere reenters the cloud afterthe lightning discharge filling up the cloud with new
object. This causes the atmosphere to cool down. If atmosphere cools down electricobject travels
faster.

The cooling of the atmosphere often occurs during the evening as the push fromthe sunsatoms is
less (inanangle).



CHARGED ELEMENTS.
Charged elements:

An elementis positively charged when thereisinward quantum jumping .Basically a contraction of
the elementsshell. Thisresultsinincreased flow(less areato flow through/smaller atom)

An elementis negatively charged whenthere is outward quantum jumping. Basically an expansion of
the elements shell. Thisresultsin obstruction of flow (biggerarea to flow through/ biggeratom)

Positive and negative charged elements. Molecules.

Figure 3.Negative charged element.

Negatively charged atoms have an outward “jumping™ atom shell. The circular flows gets
temporarily biggerfrom abase shell. Therefore it has bigger obstruction in flows towards the
element. Biggercircularflow is more obstruction.

Figure 4.Positive charged element.



Positive charged atoms have aninward “jumping  atomshell. The circularflow gets temporarily
smallerfrom a base shell. Therefore it has anincrease in flows towards the element. Smallercircular
flowisless obstruction.

Outward and inward jumpingis caused by the internal flows of the elementsinrelation to the
neighboring fluidum.

Now we can also visualizeamolecule like water:

Figure 5. Molecule of water.

PHASED CHARGE.

In hydrogen gas hydrogen atoms runin phase sotheyboth “neutralize ™ each other'scharge. If one
shell bounces back the other contracts. The same can happen with negatively charged atoms like
chlorine atoms when they form chlorine gas. Here one shell expands while the othershellis boundng
back.

ELECTRIC BONDS:

An electricbondis forward and backwards flow from elements within the molecule. In comparison to
lightthisis huge. Destruction or distortion of these flows resultsin a plasma. See ionization.

In bondingsitisveryimportanttolookat the rotation of the shellsinvolved. In covale nt bondings
rotational circular flows of the elements combine (for example both clockwise). Inionicbondings the
shell (of which one runs clockwise and the other runs counterclockwise) is segregated by acombined
flow to overcome thisissue.



MAGNETISM.

How magneticcircularflow effects an object can bestbe seenas
http://www.youtube.com/watch?v=UyRv8bNDvg4 by NASA.

Here we have an insulatorbeingrubbed by a paper. This causes rotation of the atoms whereas the
flow of electricobjectinside of the penisblocked because itis aninsulator. The rotational atoms of
the peninteract with the atoms inthe water droplets causingthem to move. So itis the rotation
(magneticcircularflow) thatinteracts with magnetic circular flow of the vortices connecting atoms
that draw wateratomstowards the pen .Itis noted that biggercircular flows (largerareas of atoms)
can effect more vortices.

PERMANENT MAGNETISM.
A permanent magnet does not move justas an atom in vacuum away from any star does not move.
The sum of all flows within a normal magnetis zero because the magnet does not move onitsown.

A permanent magnetcanbe cut in halfanditisstill a permanent magnet with same orientation of
poles. The flow is there butagain the sum of all flows has to be zero otherwise magnets would move
or rotate themselves.

Personally Ithink the layering (and orientation)induced by electric flow through metal (iron) says
somethingrelevant of how this flowis oriented. Butitis not Clockwise top Counterclockwise at the
bottom. Maybe even 1 layer CW and the nextlayer of atoms CCW. Dependingon how electricflow
withinthe magnetisoriented.

Figure 6. The sum of all flows within apermanent magnetis0. The flows are determined through
orientation of electricbonds within the magnet.

You can cut above magnetanyway you like and you still have North and South pole inthe structure.

Itisstilla magnet. If heated howeverthese bonds disorientand the flow is disrupted.


http://www.youtube.com/watch?v=UyRv8bNDvq4
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Figure 7. magneticvortices and orientation closeto permanentiron magnet.

Itisbecause cw and ccw turningvortices are close to each othertheyrepel in motionand therefore
forma donut shape magnetic field. Thisis similartothe atom model laterdiscussed. So therefore it

isveryimportantto go into magnetismfirst.

What a magnetdoesis induction of flow in metals towards the magnet because of interaction with
both CW as CCW flow from the permanent magnet. Hence the metals flows towards the magnet. All

of matterflows.

Again here magnetism has to do with orientation of vortex cones (atoms) through electricbonding.
The permanent flow of electricity through metalsis REDIRECTED and increased towards magnets.
The interaction of vortices can be clearly seenin 2adjacent magnets. Itis the motion and orientation
of vortices themselves that magnets can repels or attract another. This however has nothingto do
with the direction of flow within the vortex!.

The sun isa very strong electromagnet. Rotation of large masses, including (cooling) stars, can
actually influence the flow within the vortex. Thisis gravity but because time is flow effects can
occur.
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Figure 8. Distribution of vortices close to permanent magnet.

It requiresthe presence of another metallic object to converge connecting vortices. A permanent
magnet does not converge vorticesonits own.

Accelerationin magnetismis explained through the convergence of vortices due to a metallicobject
(fast flow)close by amagnet (directed fast flow).

The cause of acceleration = convergence.
The cause of convergence is faster flow inside the magnetand the metallicobject.

The cause of fasterflow is alignment of flow inside the magnet and from magnet to metal (or other
magnet).

Monopoleisa single layer of magnetic material in which electricity (object) flows.
Gravity and magnetism are 2 different mechanisms.

*)Gravity isan alteration of the vortices dynamics (wider) creating a push. Very weak force exerted
on all atoms.

*)Magnetismis convergence of vortices. Also creating a push. The push here is the force from the
flows exerted onthe metallicobject. Orientation of amagnets flow determines “pole ™ structure.
Magnetismisthe mainreason why the sun has captured earth. Magnetismis a strong force exerted
on all atoms connected to metal. Imagine acar beinglifted by an electro magnet.



In superconductivity the magnet remains at a distance to the cooled superconductorcause the flows
no longerexertapush on the atoms of the superconductor. The object moves through the center

instead onthe rotational atomicshell .The “upward™ (ordownward dependingonthe location of
the magnet)force isthen exerted on the atoms of the magnetinstead creating a distance.

| would like toreferto figure 9 and 10 as matteris a convergence of vortices. One can say that all of

matter has a magnetic “field™. The only way a permanent magnetdistinguishes itselffrom regular
matteris that thisflowis directed through internalalignment.
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Figure 9. attracting magnets. Flows are aligned in-between (clockwise to clockwise and
counterclockwise to counterclockwise) causing a convergence of low pressure.
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Figure 10. repulsion In magnets.

Flow are misaligned in-between (clockwise to counterclockwise and counterclockwise to clockwise)
causinga divergence in-between and aconvergence of low pressure behind magnets.

A non-metallicobject does not have a connectionto a fasterdirected flowing magnet. Sothereisno
force exerted.

Force equationinvortex.



GRAVITY.

Pressure differentials are a rational explanation for gravity. As you have biggerrotational flow
directed below youthen above. Pressure differentials interact by the atoms so this explains why
material (matter) andvorticesthemselves aggregate. Angleis one thingrationalizingin flow another.
All vortices flow towards and away from atoms so you have to lookitfroma more to less pressure
(biggercircular Magnetic flow)perspective hencethe thrust executed on the atom. You cannot bend
somethingthatisempty! Bending empty space is the most stupidest thing | have everread.

Figure 11. is greatly exaggeratedin orderto visualize. Atoms are a build of gazillions of small vortices.
Magneticcircular flow gets justa little bigger when cones (atoms are interacting vortexcones) get
closer. This causeslower pressure “under’ the atomthen above causingan acceleration of the
atom.

Figure 12 . Internal view vortex “faraway™" connection.



figure 13. Internal view vortex “close by connection.

There is NO REST mass in the universe everythingis connected viavortices. Everythingisin MOTION.
All atoms are always in motion!

Figure 14.Push on the atom.

Above fluidumis pushing more on the top of the atom then onthe bottom causingitto move.
Bottom of the atom is close to a (cooling) star.

Pressure of flows can be feltif you stand inthe sunlight. If the sun would be close you experience
stronger pressure by the incoming waves of light along the pressure grooves. Stronger pressure
wavesisless pressure inside the vortices as they extend.

Furthermore if cones (atoms)get closertogetherthey also extend the vortices. Simple dynamics.



What doesangle do?

In above picture 14. angle doesinfluence the total areathatis affected underneath the atom. More
vortices can extend in width asthey normally would be evenly distributed as they repel and attract
one another. Theincrease inarea affected is the cause of the acceleration an atom experiences
when approachingastar.

Formulation:
Gravity(x,y,z)=3AP (x,y,z)
Gravity at location x,y,zisthe SUM of all pressure differentials at location x,y,z.

Basically the total resultant of all differentials together giving difference of push onan object. If there
are more vortices extended on the bottemthereis less upward push from the fluidum. The
downpushisgreaterresultinginaforce.

Composition of the p differentials is determined by following concepts:

*) shape of atoms. Circumference of atoms. Largeratoms have biggereffects on vortex flow.
*)Circular flows within the atom.

*)Amount of Neutrons and protons within the atom (that affect the circular flow).
*)distance between atoms.

*)flow through atomicbonds affecting the circular flow within the atom.

*) flow from othervortices connected to the atoms.

Itis noted that gravityis merely an effect!! Not the cause. The cause are objectsin motion!

The veryfocus of science should therefore be on objects and theirshape. Not on the effects of
objects.

Note:the SUM of all pressure differentials on an elementis not the convergence(or divergence) of
pressure differentialsin acertain area thisis (electro) magnetism.



Quantum.
Itisa word | frequently hearandread. Butit is betterto replace it with low pressure.
Antimatter:

If flowisonedirectioninregular matterthe counterflow can be seen as an anti-flow. If anti-flow
vorticesinteractitcan give rise to antimatter.

Matter and antimatter completely oppose each otherindirection so they terminateboth whenin
contact releasinglarge quantities of the normal flowing object. Because of neutralization of the flow.

Because anti-matterhasa veryshortlifespanit mustbe seenasan occurrence.
ATOMIC MODEL

The Cone Model of the atom.

When light hits light matterforms.

The, in my opinion, already correct models foratom (dandelion) neutron and proton are already
presented by the scientist Bill Gaede on youtube.

An atomis a giantshell (in comparison to light) that revolves. Its magneticcircular flow (the size of
the outershell) isdetermined by the rotation of the vortices that build the atom. Both as inthe
vortex of light the shellis determined by the amount of low pressure that binds the atom together
and the speed of the magneticflow.

Low pressure isthe “"gluon™ of the atomicmodel now presented. | don’t use particlesto fixamodel
up.

Goingfrom neutronto protonis simply the arrangement of low pressure within the atomicshell.

A neutronisa buildup of enormous amounts of vortices comingtogetherata certainlocation. They
come togetherbecause of the CW entering and CCW exitingvortices fromthatlocation. They come
fromall directions. You can visualize this by imagining the circular magneticflow that arranges the
vortices distribution towards and from that location.
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Figure 15. An attemptofa 3D model of a neutron. Itis the direction of magneticflow that attracts
and repelsall vorticesinan evenly distributed manner.

Figure 16 .An attempt of a 3 D model of a proton. electricobject hasformed aprotonand because it
moves circular (magnetic) ithas created a low pressure core.

Itiswithinthe “electricshell™ (the blue color) that new neutrons can be enveloped.

Matter or Mass is flow that creates low pressure!ltis the organization of low pressure inside the
atom (andthe circular magneticflows associated with this low presure) that determinethe waves

the atom can produce.



SUPERCONDUCTIVITY.
Quantum.
Itisa word| frequently hearandread. Butit is betterto replace it with low pressure.

http://www.youtube.com/watch?v=VyOtlsnG71U by Tel Aviv university of Israel.

Temperature affects flow from and towards magnets. Asitincreases the flow inside of the
superconductor. CWand CCW turning flow keeps the superconductor at a position close toastrong
magnetthat induces the flows from and towards it.
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Figure 17. Speeded up flow through superconductor.

Superconductivity means that the flow inside of atoms(which is under normal conditions circular)
passesthroughits low pressure core. Itis known by the word quatumtunneling. Superconductivityis
requiredtodo fusion.

WATERFLOWS explained.
Waterflow through adrain on northern and southern hemisphere explained.

Water flows CW and CCW towards a drain on each side of this earth. This clearly demonstrates the
magneticflow thatis presentand the physical interaction that occurs from flow of object to vortex
cones. Againgravityisa “small ™ vortex fromatom to atomand a “wider™ vortex fromatomto
atom thing (stronger vortices attached to the side of water orientating earth then the otherside) so
it has nothingto do with how this EM flow isinside the vortex. Same with magnetsisthat CW flow
fromone side is CCW flow onthe back (1 vortex). Butagainthereis CW and CCW flow close to each
otherotherwise there would be no alignment (>1vortex).

DIFFERENCESIN LIGHT explained.

In white light the atom pushesin all waves that can be seeninthe visual spectrumingreenlightthe
contraction of the atom only covers the pushthat you getfor greenlight. Itisthe way how an atom
contracts that determines the amplitude. Ingamma radiation this contractionis huge. (High energy)

Why the forms of contraction?

White light.


http://www.youtube.com/watch?v=VyOtIsnG71U

Entering flow through electricbonds. When electricobject flow through bonds and geta push from
behind they sometimes enteran areawith higherresistance like atungsten wireinalightbulb. The
only way out for this objectis through the exiting vortices. What happens with white lightis that
while the atomis contractingthere isalsoa biginflow through the bonds. This explains why thereis
not 1 wave of a certain length buta whole variety of wavesinside the exiting vortices.

Laser.

Entering flow through vortices. When electricobject flows through the vortices entering the atom
structureina certain way it can contract an atom to a certain length this causes a single colour.

Chemical laser.

Ifan elementreacts with anotherelement the bondingthatoccurs is between 2distinctelements
with a distinct shape. Electricbonding causes a shape change of the atom as the newly formed flow is
shared through the bonds. The excess of objectis released viathe exiting vortices. Because the
contraction of the atomis identical in all reactions the length of the contraction does not vary.

Theresultisa single colour.
Sonoluminescence.

Mechanical waves can keep an object whereitisthereisno flow outand there can be a pushin. This
can give a huge rise intemperature close tothe airbubble in the fluid. If the bubble collapses
(cavitation) this produces a push on exiting vortices as a bright white flash. How mechanical waves
interact on solid material can also be seeninthermonuclear weaponry. Acousticlevitationisalsoa
form of mechanical waves holdingan object like awaterdroplet trapped butin acousticlevitation it
isthe objectairin which mechanical wavesare produced. Insonoluminescence these waves are
producedintheliquid. Electricobjectinairis blocked in flow soit will not be pushedinasitdoesin
water.

The constant of light speed.

Seeing lightspeed as a change of the vortex structure also explains why the speed of lightisnota
constant. In ELF Extreme low frequency waves the signal travels SLOWER then light under normal
conditions. Remember ELF means fast speed of the object traveling trough the vortex. Small areato
flow through. The adaption of the circular flow is more difficult to establish when speed of objects is
increased.



TIME.

An atom movesinvortextheory as flow. The position of an atomis determined via all intersecting
vorticesinvolved.

If an atom moves all pressure grooves have to realign themselves. Because objectinvolvedis non-
compressibleall positions of original objectis located accordingly. This means basically if one atom
moves all other stuff moves as well. If everything positionsitself toanew location we deal with the
conceptcalledtime. Thisisthe speed of repositioning. Howeverthere is abaselineflow. Persquare
cm a certain amount of object moves through. IF per square cm more object would flow throu gh
THEN time isaccelerated because the speed of repositioning would increase. Vice versa IF less object
persquare cm would flow through THEN time is slowed down. If you would take a trip to the past
then nature probably would balance things out and set you back in the future.

Position of atoms.
“Movement " of atoms.

If someone comesatyou and saysatoms don’t move at all itlooks extremely strange but
rationalizingin flow there is adifferent aspecttoit. An atomis a motion byandina fluidumso
statinga motion (atom) movesisalsoweird. Keep in mindit’s the fluidum that moves.

An atom s a position within the vortex of light. Although its size is huge in comparison tothe
extremely small vortex. Atoms actually “move " throughit. The magneticcircular flow of the position
they came from is howeverstill presentitjust gets deflated and inflated ata new location. With all
the low pressure associated with the atom and circular magneticflow increased. Becauseatoms
“move throughvortices itis eventheoretically possible to move through awall. Asthe wall is not
associated by the vortices you go through. Butit would take a lot of knowledge onthe magnetic
flowsinvolved otherwise you can get stuck inthe object wall.
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Figure 18. Atom “moving™ from position Ato position B.



GRAVITATIONALTIME DILATION.

In einsteins field equation time moves faster at height (the distance an objectisaway froma
gravitational field.) Thisis ‘proven’ in atomicclocks.

In figure 16 | have explained that the closeran atom gets to a cooling star the more vortices will
extend atthe bottom (angle). From an object perspective the flowfrom the atom to the cooling star
isslower (basicallyif you rotate an objectit has a biggertrajectory to travel. (greater distance) then
fromthe atomto a far away star. (ELF flow) The biggerthe height the fasterthe flow.

Remember: Timeisthe speed of repositioning.

Faster moving sideways

N
7

No motion downwards

N

Slower moving sideways

Motion downwards

Figure 19 .Atoms at greater height have less curved trajectories of objects underneath.
Space is notcurved!. But the Trajectory of objectsis.

The area at which the fluidum pushesthe atomissmallerinthe second drawing. Less pressure is
exerted onthe bottom towards the atom. In drawing one the total area that can be pushed by the
fluidumis greaterfrom all directions. This causes faster displacement.



Z PINCHFUSION
Z-pinch nuclear fusion mechanism.
That occurs in the coldness of space.

Vorticesinteract with atoms in space. Atoms block the flow of objects causing them to accumulate.
Atoms interacts with adjacentatoms redirecting object flow. Basically objects are trappedin greater
flows called bonds.

Figure 20.Cloud of atoms trapping flows.

The biggerthe surface area of a cloud of hydrogen atoms the more object can accumulate. This
accumulation process continues until the resistance of redirected flow becomes too great. This
causesionization of the atoms. Flowing object now escapesthough vortices. Because vortices
increase insize (bigger magneticcircular motion) atoms start attracting each other. The cloud
segregatesitselfin 2 great flows that oppose each other because the magneticcircularflows
involved.

Itisthe ionization of atoms that pulls the atom together!.



Figure 21.ElectricFlowsinvolvedin hydrogen cloud.

Because atoms are still attracting one anotherthe 2 opposing flows eventually mergeforming a
thermal dissipative eventi.e anew star.

Figure 22.Star. Excess objectis ejected when these flow mergerto become agiantcircularflow called
astar.



Galaxy.

Orientation of flow and rotational motion of atoms is oppositional in the formation of agalaxy .l.e
thereis no positive and negative “charge . Charge is a concept. Nature does not now + or —it just
knows more or less objectata certainlocation!.

In a galaxy this becomes arotational spiraling out flow. Magneticcircularflow which is close in the
centergets bigger outward. Because the elements are connected with vortices the entire galaxy is
circularshaped.

The entire formation of the galaxy can be explained through pressure exerted on afluid object. Itis
withinthe authors belief that the entire universe is compressed. Instead of a big bang the opposite is
true. It isthe compression of space (with gazillions of vorticesinit) that explains galaxy formation.
The cause of compressionis fluidum pressure.

ELECTRIC.
Lorentzforce (Ampereslaw):
The magneticforce on a current carrying wire.

The best a star formation (orfusion reaction) can be computedis via understanding the flows that
occur in a cloud of hydrogen atoms based on where light emanates from. Lorentz forces then could
be mapped how the cloud gets togetherand eventually forms astar.

2 flowsinthe same direction willattract whereas 2 opposing flows repel.
The main principle in (electro)magnetismis Convergence or Divergence of vortices through flows.

Itisthat flows attract and repel because theyinfluence the magnetic rotational flow of the atom.
This affectsthe magneticrotation of the vortices attaching the atoms.

S S
A -

Figure 23.Large electricflow affecting rotational flow of atoms.
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Figure 24. attraction and repulsion by electricflows through atoms.

WHY THE MOON DOES NOT FALL TO EARTH.

The moon does not fall to earth because vortex flow is from earth tothe moon and fromthe moonto
the earth. Simply look atthe moon and see all light coming from the moon and imagine standingon
the moon and looking all of the light coming from earth.

Figure 25. Forces invortex.

Incoming waves of light produce Force towards the person . Pressure of flows can be feltif you stand
inthe sunlight. If the sunwould be close you experience stronger pressure by the incoming waves of
lightalongthe pressure grooves. Stronger pressure waves is less pressure inside the vortices as they
extend.

The low pressure inside the vortex increases with bigger and more waves causing attraction on the

atom.

The force of pressure from the waves (both ways) and force of the low pressure inthe vortex arein
equilibrium atacertain point. Hence the moonis captured by the earth.

Eventually the pressurefrom the flows from earth is diminishing so the moon will loosen from earth.



RADIOACTIVITY
Explanation of astable nucleus.
Justlike in hydrogen gas there has to be a phase at whichthere isless disruptionin flows as possible.

In hydrogengas we have one atomicshell expanding whilethe otherone is contracting. This means
thatinits nucleusthe protonis contractingwhile inthe otheratomoneisexpanding.

In helium contraction and expansion are in phase. More protonsina nucleus means more out of
phase you get. It is also called the harmonics of the atom.

Neutrons.

O Proton

% Neutron
é Motion of atom

% Motion of protons

% Phase

Figure 26. Helium atom (why neutrons stabilize an atom). Actual atomicnucleusis greatly
exaggeratedinsize inrelation to the atomicshell.

Defining Coulomb barrier:

Obstructed flows inthe core move from one protonto anothervianeutrons that stabilizes a core.
The combined obstructed flow around the nucleusis called the coulomb barrier. The shape of this
barrier does not have to be spherical.

Radioactivity. Action is opposite to reaction.

Pressure of the fuidum. The pressure of the fluidumis the main reason why stars cool and is the main
reason for betaand gamma radioactivity (displacement of motion out of the atomicstructure). Italso
setsthe borders of the atoms.

Pressure onvortices causes an acceleration of object from atom towards the atom. Votices will be
going back to ELF (extreme low frequencies). Faster flows causes radioactivity. The repellent of



protonsand circular motion (Band gamma radiation) is caused by a gradual increase invelocity in
vortices. Thisincreasesto apointwhere the downpressure of the fluidumisin equilibriumwith the
sheerforces (upward force)of the vortexstructure.

This also happensto free protonsin space that getaccel erated through the ELF vortices that
connects them. The presence of cosmicraysis one evidence that support ELF flows in outerspace.

Fluidum pressure is everywhereso it explains no difference in decay on adifferentlocation.

Types of radioactivity:

Alpharadiation. Collision between proton and the nucleus of an atom releasinganionized helium
atom. The helium atomisionized becausecircularflow (shell) forthe atom has to be re installed
afterleavingthe alphaemittingatom.

Beta radiation. The transfer from motion of one atom to anotherviaa mechanical wave inthe
fluidum.

Gamma radiation. Fast rearrangement of atomicstructure sending awave alongthe pressure
grooves thatinterconnectatoms.

Why radioactivity is nota directinfluence from (outside of the atom) fluidum pressure on the atoms?

Differential in fluidum pressure is gravity. Butinternal motion | can't see being affected by external
pressure. Soitlooks rational to claim first effect on vortices then aninternal shift then an external
shift.(Atom shell).

STATES OF MATTER vs vortex.

Solid (lowest dynamics) ->Plasma high dynamics (ionized state) loose atoms. Huge obstruction of
flow. (Nuclear weapon)

Plasma (high dynamics)->gas (lowerdynamics) Atoms combining. Less obstruction in flow. Faster
flow.

Gas (higherdynamics) ->liquid(lower dynamics) atoms combining. Less obstructionin flow. Faster
flow.

Liguid(higher dynamics) ->solid (lowest dynamics). Atoms ™ fixed™". Less obstructionin flow. Faster
flow.

Solid. No obstructionin flow otherthaninternal sheerforces. Fastest flow possible. If flow hits
atomsthey get ionized again.



MATTER “formation™.

In space it takes 7 minutestoturn a neutronintoa protonand an “electron™. Anelectronis nothing
more then a mechanical wave inside the fluidum. Itisthe border wave between the fluidum pressure
and the displacement force of the atom(by the proton).

||

Figure 27.Neutron to proton.

From a neutrontoa protonisjust a different allocation of motion.

~ Atom shell

/ \
Low pressure core "~ Proton

Figure 28.Why a low pressure core of a proton affects quantum jumping (i.echarge).

The rotational incoming flow (vortex) encounters the circular flow of the atom ( from atom shell to
the proton) affecting the low pressure cavity of the protonsinterior making it expand and contract.



As the interior contracts and expands so does the atom shell contract and expand. This feature is
called charge.

An atom shell is nothing more than a mechanical wave (electron) produced by the internal motion of
the proton. It is where the circularflow of objects meets the pressure of the silent object the
fluidum. More protonsinthe nucleus effect more motion of this atomicshell.

Thisresultsin the harmonics of the atom.

CONEMODEL OF THE ATOM.

In the cone model lonlylook at the presence of more and less (flowing) object present:

Figure 29.Cone model of hydrogen.

In above atom model there are 2 different types of cones present. When the vortex hits the atom
shell and when the vortex hits the proton shell. The proton core is formed out of low pressure thatis
internally presentinthe vortex. Accumulated with countless othervortices it forms ahuge
obstructioninthe flow..

Due to rotationthereisless object between proton and atomicshell. Itisthe same comparingto a
centrifuge. Shells are a construct of dense object. Proton shell due to obstruction of incoming flows
and atomicshell due to centrifugal force. Itis the centrifuge force onincomingand exiting vortices
thatis called torsion physics. Sorotation of atomsis vital in understanding torsion physics.

An atoms layering.

As an atomshell is constructed out of a mechanical wave (electron). Multiple mechanical waves can
become partof this electronshell asthose waves will interfere inits shell. So more protons will be
more waves presentinanatoms shell. Arapid contraction and expansion of a proton will distort the
atom shells harmonics giving amechanical wave along the exiting vortices of the atom. The change
of the vortices shapesis atlight speed. Larger atoms have more interferencein the atomicshell (of
more protons movements) therefore have alowervibration rate the smalleratoms.



MATTER VS. Vortex.
E=mc2

Little cisthe change of the vortices shape. Not the actual motion of the underlying objects!.C2is not
a signal that travels both ways. A square (especiallyin relation to distance. Cisin m/s)indicates that
the elementhasanarea withinaroundshape .lt is sphere like due tointeraction of vortices. E
describes how much this shape can contract and how much push is generated on the exiting vortices.
C2 alsorelatestothe shape of the involved vortices. Mis how much™ mass™ is being pumped. Mass
isfluid object. Because the objectitself is non-compressiblethe resultantis aswingon the exiting
vortices. [tcannot speed up the flow asthe objectitselfis non-compressible. Although the flow of
the vortexis constantthe distance it travels being pumped up and downislongerthanthe distance
coveredin ELF extreme low frequencies. Note again c= speed of the change of shape of the vortex
not the flow itself!.

M=E/C2 can bestbe described asmassis energy that passesthroughan areain (time *time). I see
time AS flow so we get massis PUSH (energy) on FLOW that passes through an area squared.

A PUSH on the flowsin a certain area. That’s what mass is.
Let’s add negative signs to the equation:
-E=-mc2

The Energy that isrequired to expand the atomisthe mass (objectthatis required) thattravels (fills
an area with flows) into the atom.

So:

E= mc2

The energy that can contract an atom isthe massthat leavesthe atom.(the areainflows)
Personallyldon’tlike math butittells something:

2 = 1/(E0u0) So:

E=m*1/(€E0u0) or E=m/(E0uO)

€0. Electricfield constantin vacuum.

€0 =D/E D=electricdisplacementfield. InthisformulaEiselectricfield.

u0 = permeability of magneticfield in vacuum.

In formulations mass has adirect relation to electricdisplacementinvacuum!



Antimatter:

If flowisonedirectioninregular matterthe counterflow can be seenas an anti-flow. If anti-flow
vorticesinteractitcan give rise to antimatter.

Matter and antimatter completely oppose each otherindirection so they terminateboth whenin
contact releasinglarge quantities of the normal flowing object. Because of neutralization of the flow.

Because anti-matter hasa veryshortlifespanit mustbe seenasan occurrence.

Why a correct understanding of lightisimportant.
Lightis the entity that we do our observations with!
If we did our observations with sound our perception of the universe would be different.

Doingyour observations with an objectrequires first the understanding of the objectitself otherwise
you can fantasies dark matter, dark energy, black holes, bigbangetcas a missing part of an equation
that is not there. Science requires an understanding of the very shape of objectsitself before math as
atool can be applied.



